FORMAT FOR PRICE - BID
. .. |P&F chgs. Freight Other .
masc nie 1T Gty mn | osanpar USR] Gt onight |amy porane| | CShonoter | Totlanded o
SLNo Description Qty Unit HSN CODE Rs. Per Unit any) (Rs.))
(inRs) [(in%)| (inRs) (InRs)) [(in%)| (inRs) (in%) | (inRs) (inRs.) (in %) (inRs.) (in fig) (in words)

1 |Hex. Head bolt, M48x 230, Grade: ISO 8.8 54 Nos
2 |Washer, M 48, Grade: Steel 108 Nos
3 |Hex nut, M48, Grade:8 180 Nos
4 |Hex. Head screw, M64 x 240, Grade: I1SO 8.8 12 Nos
5 |Lock washer, M64, Grade:2030 12 Nos
6 |Hex.Head screw, M16 x 125, Grade: ISO 8.8 24 Nos
7 |Washer, M16, Grade:Steel 96 Nos

Hex.Nut, M16, Grade:8 48 Nos
9  [Thick washer, M16, Grade: ASTM A36 36 Nos
10 |Hex.head screw, M12 x 50, Grade: ISO 8.8 24 Nos
11 |Hex.head screw, M16 x 60, Grade: ISO 8.8 192 Nos
12 [Spring washer, M16, Grade:Spring steel HRC 44-51 192 Nos
13 |Hex.head screw, M16 x 40, Grade: ISO 8.8 96 Nos
14 |Washer, M12, Grade:Steel 60 Nos
15 |Hex.Nut, M12, Grade:8 60 Nos
16 |Hex.head screw, M30 x 120, Grade: ISO 8.8 30 Nos
17 [Spring washer, M30, Grade: spring steel HRC 44-51 30 Nos
18 |[Key, 70 x 36 x 70 6 Nos
19 |Hex.head screw, M10 x 20, Grade: ISO 8.8 72 Nos
20 |Spring washer, M10, Grade: Spring steel HRC 44-51 84 Nos
21 [Hex.head screw, M10x 30, Grade: ISO 8.8 54 Nos
22 |Hex.head screw, M16x 60, Grade: ISO 8.8 72 Nos
23 |[Hex.head screw, M10x 25, Grade: ISO 8.8 12 Nos
24 |[Hex.head screw, M42x 200, Grade: ISO 8.8 15 Nos
25 |[Hex.nut, M42, Grade:8 222 Nos
26 |Washer, M42, Grade: Steel 30 Nos



UCIL
Textbox


. .. |P&F chgs. Freight Other .
masc nie 1S Gty min | osanpar (TSR] Gt onight |amy porane| | CShonoter | Tomtanded o
SL.No Description Qty Unit HSN CODE Rs. Per Unit any) (Rs.))
(inRs) [(in%)| (inRs) (InRs.)) [(in%)| (inRs) (in%) | (inRs)) (inRs.) (in %) (inRs.) (in fig) (in words)
27 |Hex.head screw, M42 x 230, Grade:ISO 8.8 9 Nos
28 |Plate washer, 90 OD x 46 ID x 5 Thk 18 Nos
29 |[Hex.head screw, M24 x 125, Grade: ISO 8.8 9 Nos
30 [Plate washer, 50 OD x 25 ID x 5Thk 51 Nos
31 [Hex.head screw, M24 x 90, Grade: ISO 8.8 9 Nos
32 [Hex.head screw, M24 x 150, Grade: 1SO 8.8 78 Nos
33 |Washer, M24, Grade: Steel 48 Nos
34 |[Hex.head screw M24 x 120, Grade: 1SO 8.8 12 Nos
35 |Spring washer, M24, Grade: Spring steel HRC 44-51 24 Nos
36 [Hex.head screw, M20 x 110, Grade: 1SO 8.8 12 Nos
37 [Washer, M20, Grade: Steel 24 Nos
38 [Hex.nut, M20, Grade:8 24 Nos
39 [Hex.head screw, M12 x 45, Grade: ISO 8.8 12 Nos
40 |Hex.head screw, M30 x 325, Grade: ISO 8.8 18 Nos
41 |Hex.nut, M30, Grade:8 36 Nos
42 |Hex.head sacrew, M24 x 100, Grade: ISO 8.8 12 Nos
43 |Square head bolt, M30 x 90, Grade: ISO 8.8 18 Nos
44 |Washer, M30, Grade: Steel 12 Nos
45 |Eye bolt, M10, Grade: C 15 6 Nos
46 |Eye bolt, M12, Grade: C 15 6 Nos
47 |Eye bolt, M16, Grade: C 15 6 Nos
48 |Eye bolt, M20, Grade: C 15 6 Nos
49 |Eye bolt, M30, Grade: C 15 6 Nos
50 |Eye bolt, M36, Grade: C 15 6 Nos
51 [Hex. Nut M12, Grade:8 3 Nos
52 |Spherical washer, M36, Grade: 2310 6 Nos
53 [Hex.nut, M36, Grade:8 12 Nos
54 |[Hex.head screw, M20 x 55, Grade: ISO 8.8 12 Nos
55 [Hex.head screw, M24 x 125, Grade: 1SO 8.8 36 Nos






